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Note : (i) Attempt any five questions.  

 (ii) All questions carry equal marks. 

1. (a) Define runoff. Explain the climatic and 

physiographic factors affecting runoff.  

    5 

(b) Give rainfall intensity, duration and 

frequency relationship and explain 

different terms of the relationship.  5 
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2. Define Percolation. Explain deep percolation 

and percolation rate. Describe the factors 

affecting percolation. 10 

3. (a) Explain the functioning of Tipping-

Bucket type raingauge. 5 

(b) Compute the rainfall intensity for  

15 and 30 minutes duration using the 

following data : 5 

Storm Time 

(Minutes) 

Cumulative 

Rainfall (mm) 

0 0 

15 12 

30 27 

45 45 

60 69 
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4. (a) Explain velocity-area method of runoff 

measurement.  5 

(b) Calculate the average rainfall using 

Thiessan Polygon method for the data 

given below : 5 

Station 
Rainfall 

(mm) 

Area of 

Polygon (km2) 

1 32 28 

2 24 12 

3 26 35 

4 35 25 

5. (a) Define time of concentration. State the 

empirical formula for computing time of 

concentration.  5 

(b) Describe interception losses. 5 

6. (a) Differentiate between Industrial and 

Agricultural waste.  5 

(b) Describe any two chemical 

characteristics of water. 5 
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7. Describe any two water treatment 

measures.  10 

8. Write short notes on any four of the 

following :  4×2
 

 
=10 

(a) Hydrologic cycle 

(b) Evaporation 

(c) Rainfall  excess 

(d) Runoff coefficient 

(e) Water balance equation 

(f) Infiltration rate 
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ONR–002 

ty lap;u ,oa izca/ku esa izek.k&i=  

(lh- MCY;w- ,p- ,e-) 

l=kar ijh{kk  

twu] 2025 

vks-,u-vkj-&002 % tyfoKku ds ekSfyd fl¼kUr 

le; % 2 ?k.Vs   vf/kdre vad % 50  

uksV % (i) fdUgha ik¡p iz'uksa ds mÙkj nhft,A 

 (ii) lHkh iz'uksa ds vad leku gSaA 

1- (d) okgty dks ifjHkkf"kr dhft,A okgty dks 

izHkkfor djus okys tyok;oh vkSj Hkw&vkÏfrd 

dkjdksa dh O;k[;k dhft,A 5 

([k)  o"kkZ rhozrk] vof/k vkSj vko`fÙk laca/k dk mYys[k 

dhft, rFkk laca/k ds fofHkUu inksa dh O;k[;k 

dhft,A 5 
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2- var%lzo.k dks ifjHkkf"kr dhft,A xgu var%lzo.k vkSj 

var%lzo.k nj dh O;k[;k dhft,A var%lzo.k dks izHkkfor 

djus okys dkjdksa dk o.kZu dhft,A 10 

3- (d) mYVkÅ&ckYVh izdkj ds o"kkZekih dh dk;Ziz.kkyh 

dh O;k[;k dhft,A 5 

([k)  fuEufyf[kr vk¡dM+ksa dk mi;ksx djrs gq, 15 vkSj 

30 feuV dh vof/k ds fy, o"kkZ dh rhozrk dh 

x.kuk dhft, % 5 

o"kkZ vof/k (feuV) lap;h o"kkZ (feeh-) 

0 0 

15 12 

30 27 

45 45 

60 69 

4- (d) okgty ekiu dh osx&{ks=Qy fof/k dh O;k[;k 

dhft,A 5 
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([k)  fuEufyf[kr vk¡dM+ksa dk mi;ksx djrs gq, Fkhlhu 

cgqHkqt fof/k ls vkSlr o"kkZ dh x.kuk dhft, % 5 

LVs'ku o"kkZ (feeh-) 

cgqHkqt dk {ks=Qy 

(oxZ fdeh-) 

1 32 28 

2 24 12 

3 26 35 

4 35 25 

5- (d) lkaærk le; dks ifjHkkf"kr dhft,A lkaærk le;  

dh x.kuk djus ds ifjdfYir lw= dk mYys[k 

dhft,A 5 

([k)  vUrjksZ/ku gkfu;ksa dks o£.kr dhft,A 5 

6- (d) vkS|ksfxd rFkk Ï"kh; dpjk esa varj Li"V 

dhft,A 5 

([k)  ty ds fdUg° nks jklk;fud xq.kksa dk o.kZu 

dhft,A 5 

7- ty mipkj ds fdUg° nks mik;ksa dk o.kZu dhft,A 10 
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8- fuEufyf[kr esa ls fdUgha pkj ij laf{kIr fVIif.k;k¡  

fyf[k, %   4”2
 

 
=10 

(d) ty pØ 

([k) ok"iu 

(x) o"kkZ dh vf/kdrk 

(?k) okgty xq.kkad 

(³) ty larqyu lehdj.k 

(p) var%L;anu nj 

× × × × × 

 

 

 

 

 

 

 

 

 

 


